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QUESTION 1

This question requires that you evaluate the underlined text to determine if it is correct. 

A relational database management system employs the concept of an attribute to ensure that data entered into a field in
a column is valid. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement correct. 

A. No change is needed 

B. a primary key 

C. a constraint 

D. an index 

Correct Answer: C 

 

QUESTION 2

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
selection is worth one point. 

Hot Area: 

Correct Answer: 
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QUESTION 3

You have the database table named Cars as defined below: 

You have the following Structured Query Language (SQL) statement: 

How many rows are returned by the SQL statement? 

A. 4 

B. 5 

C. 6 
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D. 7 

Correct Answer: A 

 

QUESTION 4

You are creating a table to store customer data. The AccountNumber column uses values that always consist of one
letter and four digits. Which data type should you use for the AccountNumber column? 

A. CHAR 

B. BYTE 

C. DOUBLE 

D. SMALLINT 

Correct Answer: A 

 

QUESTION 5

You have a table named Student that contains 100 rows. Some of the rows have a NULL value in the FirstName
column. You execute the following statement: 

DELETE FROM Student 

What is the result? 

A. All rows in the table will be deleted. 

B. All rows containing a NULL value in the FirstName column will be deleted. 

C. You will receive an error message. 

D. All rows and the table definition will be deleted. 

Correct Answer: A 
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